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QUESTION 1

Which command should be used to enable automatic synchronization for all software images and configuration on the
Alcatel 7x50?

A. Admin redundancy synchronization boot-env
B. Admin redundancy synchronization config
C. Configure redundancy synchronize boot-env
D. Configure redundancy synchronize config

E. It is enabled by default

Correct Answer: C

QUESTION 2

A spoke-sdp terminated IES configured on Node 3 is down due on SDP serviceMTUMismatch error. The same error is
found on the corresponding SDP on Node 4. The VPLS is using the default service MTU. Which MTU value should be
modified to bring the SDP up on both Nodes?
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A. IP MTU of the IES Interface on Node3
B. Port MTU on Node 3 and Node 4

C. SDP Path MTU on Node 3 and Node 4
D. Service MTU on Node 4

E. Path MTU on Node 3 and Node 4

Correct Answer: A

QUESTION 3

Based on the following configuration, which of the following statements are true? Choose all that apply.
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Node 4

Mode-1

configrrouterrospt#
area 0.0.0.0
interface "to-Node-2°
metric 50
authentication-key "DoGPpEhE4333mpS2 TugbZ82 ™ hash:
interface "to-Node-3°
metric 50
area 0.0.0.1
nssa
originate-default-route
interface "to-Node-—-4"*
retric 50

MNode-2

configrrouter>osptH
area 0.0.0.0
interface "to-Node-17
authentication-key " 3h77ifS4bFCeHZ ArmSiaFulixNbnligsa ™ hashi

Node-3

configrrouter>isptH
area 0.0.0.37
interfac= "to-Node-1"
helli-interwval 1E

MNode-+4

configrrouter>>sptH
area 0.0.0.1
interfacs "to-Nods-1"
metric 50

A. No OPSF adjacency found on Node 1

B. Full OSPF adjacency between Node-1 and Node-2
C. Full OSPF adjacency between Node-1 and Node-3
D. Full OSPF adjacency between Node-1 and Node-4
E. OSPF is enabled on Node 1

Correct Answer: BE
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Based on the configuration below, which statement best describes the reason why VPLS 101 is not up on all three

nodes.

Node-1

Haode 2
10.10.1.2

HNode 3
101012

config>service>

vpls 101
stp
shutdown
exit
sap 1/1/5 create
exit
spoke-sdp 30:30 create
exit
no shutdown
=dp 30
far-end 10.10.1.2
1dp
keep-alive
shutdown
exit
no shutdown

Node-2
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shutdown

exit

spoke-adp 40:40 create

exNit

spoke-sdp 50:50 create

Eexit

no shutdown

scdp 40

far-end 10.10.1.1

ldp

keep-alive
shutdown

{=b i

no shucdown

sdp S0

far-end 10.10.1.3

ldp

keep-alive
shutdown

exit

no shutdown
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Node-3

config>servi

cex
wpls 101
stp
shutdown
exit
sap 1/1/5 create
exi
spoke-sdp 60:60 create
exit
no shutdown
sdp &0
far-end 10.10.1.2
1dp
keep-alive
shutdown
exit
no shutdown

A. Service VC id has to match on all three nodes

B. SDP id has to match on all three nodes

C. STP has to be enabled on all three nodes

D. No SAP is

configured on Node-2

E. Mesh-sdp has to be used on all three nodes

Correct Answ

QUESTION 5

er. A

Two routers are physically connected to each other over Ethernet port 1/1/1. Review the configuration information
below. What state should the OSPF neighbor be in?
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configs port 1/1/1
ethernet
mtu 1514

exit
no shutdown

router interface tolNode:Z
addres=s 10.1.5.1/24
port 1/1/1

router ospt
area 0.0.0.0

interface "toMNodeZ™
mtu 1500

MNaode 2

configr port 1/1/1
no shutdoun
router interface tollodel
addresa 10.1.5.2/24
port 1/1/1
router ospi
area 0.0.0.0
interface "toMNodesl™
wtu 1500

A. INIT

B. EXCHANGE

C. EXSTART

D. FULL

E. No OSPF neighbor

Correct Answer: D

QUESTION 6

A LSP is configured with one primary path and one secondary path as below. What configuration is required to make
the LSP non-revertive. Choose the best answer.

configrrouter>nmplss>
path "toRouteri-loose”
no shutdown
path "toRouteri-bhackup™
hop 1 10.10.1.2 loose
no shutdown
lsp toRouter3
to 10.10.1.3
cspt
primary "toRouter3-loose"
bandwidth 600
secondary "toRouter3-backup™
standby
bandwidth 600
no shutdown

A. Turn off CSPF and remove all the bandwidth reservations

B. Remove the primary path and configure both paths as secondary
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C. Under asp toRouter3? configure on-revertive
D. It is not possible to configure the LSP as non-revertive
E. MPLS fast re-route has to be enabled to make it non-revertive

Correct Answer: B

QUESTION 7

Which command is used to view alarms of all severity levels on the Alcatel 7x50?
A. Show log log-id 99

B. Show alarm

C. Show log filter-id 1

D. Show log log-id 100

E. Show log 99

Correct Answer: A

QUESTION 8

Node 1 and Node 2 are directly connected running LDP. The system ip address of Node 2 is 10.10.10.1.2. Based on the
following display, why is the sdp down?
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show zervice sdp 40 detail

10.10.1.2:0

Sdp Id 40 0 —(10.10.L1.&)

SDP Ic 40

Acmin Fath MTUO ] Jper Fath MTU ]

Far Erd i0.10.1.2 Delivery LDP
Admin State Up Jper State Daown
Signaling TLDF VLAN VC Etype Ox3100
oot . Pol Ione Tollect Ztats Dizsbhlaed
Last Ztatus Change 12/18/2006 16:29:39 bdw. MNTU Crrer. Mo

Last Fomt Chandgs 12/15/2006 14:49:51

Flags TransportTunnlbown

Eeepilive Information

Admin State Iisahled Jper State Disabled
Hello Time i0 Hello M=g Len ]

Hello Timsout 5 Onmatched Replies ]}

Max Drop Count 3 Hold Down Time 10

Tx Hello HMags (] FEx Hello M=gs (]

LDP Zes=sions

Pesr ILDP Id Ady Type ZState HNesg Zent Meesg Beow Up Time

Targeted Esatabhlished

A. Local SDP id does not match with the remote sdp id.

B. Far End IP address is not reachable.

C. Keepalive has to be enable on the SDP.

D. LDP is not enable on the remote node\\'s interface.

E. Targeted LDP session is disabled on the remote node.

Correct Answer: A

QUESTION 9

Which of the following debug statements can be used to troubleshoot if the OSPF adjacency is staying at xstart state?

Select two answers.

A. Debug router ospf rtm

B. Debug router ospf packet dbdescr

C. Debug router ospf neighbor
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D. Debug router ospf packet hello
E. Debug router ospf spf

Correct Answer: BC

QUESTION 10

Based on the show display below, what should be done to further trouble the LSP problem? Choose all valid actions.

Mode 4
10.10.14

i
AL I
\ Mode 3

Iode |
10.10.1.1 N, 101013

i i
i e Ly (I

# shcw router mpls lsp toNode3 path tolNoded detail

MPL3 L3P toNode3 Fath (Detaili

Legerd =
f - Decour Available
k - Bandwidth Protected

# - Detour In Use
n - Node Protected

L3P Nawme 1 toMode3 Path LSF ID 1
From 1 ARREBILST To 10.10.1.3
ILewm Ztate : Up Oper State : Down
Path Name : toModel Path Type : Frimary
Path Adwin : Up Path Oper : Down
outIrterface: n'/a out Label i nia
Path Up Tiwe: Ocd 00:00:00 Fath Dn Tiwe - Ocd 00:01:18
Becry Liwmit : O Recry Timer : 30 sec
Retryiccempt: 1 Next Eetcry In R ™ e 1= T
Bandridch : No Beserwvarion COper Bandwidth : O Mbps
Hop Limit H o
Record Route: Becord Record Lakel : Record
COper MTU - 9195 Negotiated MTO :© 91898
Adaptive : Enabled MEE State : NSL
Include Grps: Exolude Grps
None None
Path Trans Hse s C3PF Queries a
Failure Code: noRouteTolestinazion Failure Node i0.10.1.1
ExplicicHops:

l0.10.1.4 —» lD.l0.1.3

betusl Hops :
Lo Hops Specified

A. Check all the interface filters to make sure no LDP protocol is blocked
B. Check all management filters to make sure no RSVP-TE protocol is blocked

C. Verify all explicit hops are reachable via IGP
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D. Make sure MPLS is enabled on all appropriate interfaces
E. Make sure LDP is enabled on all appropriate interfaces

Correct Answer: BCD
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